, ﬁ gﬁ f 10 . 7 str=(Rr)
CIEE EGIED
s DD
|
o B o B o o T T T
7 3
o0 oo o380 o0 o3l o o

5
S
3
Ao Ae,

2
*
|
1112
4
5

OIS
3

2
LA
3
kkk%&kkk

CRBO ARG
9
i1
3
LR ARCaE
5
4

@@@@@@@

www.snowmath.com


https://www.snowmath.com

, ﬁ ﬁ f 10 . T str (=)

T EGIED R
1 + 8 = 9
T 6 e 6 e 6 o= oo o6 oo
7 + 3 = 10
OG0 5 o0 oo o3 020 020
5 + 2 = ]
s LA
3 + 3 = 6
13 Re.fefefefofo Ro e
2 + 8 = 10
1 + 9 = 10
11222 211
4 + 3 = 77
5 + 5 = 10
5 + 4 = 9
Se® OIOICICIOIONC)
3 + 7 = 10

www.snowmath.com


https://www.snowmath.com

